Unit 8 Day 14 HW Review Guide for solving quadratics quiz

Name: KE1
Topics: Solve by graphing, square roots, quadratic formula.
Completing The Square and Discriminant.

2
Solve by Graphing X=24 24\ 20 /Y (3)-0(3)+5

1) x*—6x+5=0  (by hand) -4 2) f(x)=2x"-5x-8 solve f(x)=0 by calc
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Solve with square roots
(notice b =0)
3) 5x°-125=0 4) 2x*+32=0
5%" =125 2 =-32
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Solve with the Quadratic Formula
5) 6x°-5x-4=0
b2-uac = (-5 P-4 (@)= 121

6) -3x +6x=-7 =M +LX+1=0
F-ows (= d(-H(1) = 120
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Use Completing the Square to put these in vertex form

7)f() X’ +6x=5

(P+lx+2)-5 -4
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8) g(x)=g' ~12x+20
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Use the Discriminant to determine if the quadratic is factorable.

If it is, factor it. If it is not, state how you know.

9) h(x)=10x"+7x-12
(0*-4(0) (-12) { 524
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Describe the nature of the solutions of
11) -3x°+5x+3=0

b (£)*-4(-3)(3)% (o\
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10) j(x)=3x"+7x-12
(1)*-4 (3)(-12) = 132
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12) 3x°+5x+3=0
]7; Yac = (,S l—(( 3)(3) -_.-—-:
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